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Question 1: A2~ E+F 1-2a Gold Outcome 3

Expand the following brackets and
simplify;

(4x — 9)(x? — 3x + 10)

Question 2:

Factorise fully;

6x% + 12x

4%~ E+F 1-2b Gold Outcome 1

Question 3:

Factorise;

a’— 36

42~ E+F 1-2b Bronze Outcome 2

Question 4.

Factorise;

y? +9y + 14

/i~ E+F 1-2b Bronze Outcome 3

Question 5:

Factorise;

q% —4q — 21

/%~ E+F 1-2a Silver Outcome 3

My score:

What have I learned so far 2?
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Question 1: Ji~ E+F 1-2a Silver Outcome 2
Expand and simplify
Qx—=1)(x+ 4). 1
Question 2: 4%~ E+F 1-2a Gold Outcome 2
Multiply out the brackets
and collect like terms.
Bx+2)(x—-1) +4x 3
Question 3: J5~ E+F 1-2a Bronze Outcome 1
Factorise fully
Saf—45. 2
Question 4: /3~ E+F 1-2a Bronze Outcome 1
Factorise
2x* = 7x - 15. 2
Question 5: %~ E+F 1-2a Bronze Outcome 1
(a) Factorise
a* + 2ab + b, 1
(b) Hence, or otherwise, find the value of
947 + 2% 94 x 6 + 6% 2

My score:

What have I learned so far 2?
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